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The Brain is up to his old tricks again.  Three important satellites are orbiting overhead.  Without these satellites in operation, he may be able to take over the world.  His missiles are aimed to destroy satellites A, B, and C when they reach the following points: (20, 90), (40, 80), and (-70, 85).  The Brain’s base sits at the point (-60, -85) and your base lies at (60, -30).  Sea level is represented by the x-axis.  Answer the following questions.

1.) What is the equation of the line from The Brain’s base to satellite A?

2.) What is the equation of the line from The Brain’s base to satellite B?

3.) What is the equation of the line from The Brain’s base to satellite C?

4.) What is the equation of the line from your base to The Brain’s base?

Each of the missiles must be destroyed before they rise above sea level.  Knowing that, answer the following.

5.) At what point along the x-axis will the missile heading towards satellite A reach sea level?

6.) At what point along the x-axis will the missile heading towards satellite B reach sea level?

7.) At what point along the x-axis will the missile heading towards satellite C reach sea level?

8.) What is the equation of the line from your base to the point where the missile heading towards satellite A reaches sea level?

9.) What is the equation of the line from your base to the point where the missile heading towards satellite B reaches sea level?

10.) What is the equation of the line from your base to the point where the missile heading towards satellite C reaches sea level?

This assignment is worth 60 points.  Each question is worth five points, and a graph of the situation is the other 10 points.  All equations must be in the form y = mx + b.  Each student must turn in his or her own answer sheet.

